8" PIER TOP PLATE INSTALLATION DIAGRAM
FOR CG—5 TYPE MOUNTS

(INCLUDING CELESTRON CG-5, CG-5-GT, MEADE LXD55/75, ORION SKYVIEW PRO ETC.)

1-1/4" ALUM CG-5 ADAPTER PLATE
1/2" THICK FLANGE

HEX JAM NUT, 5/8"-11, SS
(OPTIONAL ANCHOR BOLT KIT) ————m8m8 ==

FLAT WASHER, 5/8" SCREW, MIL 821, SS ___  —_
(OPTIONAL ANCHOR BOLT KIT)

NEOPRENE WASHER, 5/8" SCREW, 1-5/16" OD __=——

x 0.093 THICK (OPTIONAL ANCHOR BOLT KIT)

CENTER MOUNTING BOLT ASSEMBLY, SS
( INCLUDED)

NEOPRENE WASHER, 5/8" SCREW, 1-5/16" OD
x 0.093 THICK (OPTIONAL ANCHOR BOLT »<|T)\\Esm

FLAT WASHER, 5/8" SCREW, MIL 821, SS —=
(OPTIONAL ANCHOR BOLT KIT)

HEX JAM NUT, 5/8-11 SS =

(OPTIONAL ANCHOR BOLT KIT)

12" L STYLE ANCHOR BOLT, 5/8"-11, SS — ==
(OPTIONAL ANCHOR BOLT KIT)

RADIUS

or

7

20 DEG OF
Ve ADJUSTABILITY

-
_—

8" DIA x 1/2" THICK ALUM BASE PLATE

1" ALUM SPACER, TYP x 3 (INCLUDED)

~= BUTTON HEAD SOCKET CAP SCREW, 3/8"-16 x 1-3/4"
TYPICAL x 3 (INCLUDED WITH BASE PLATE)

N, 4" TYPICAL

COPYRIGHT (C) 2012 DWH PRODUCTS & PIERPLATES.COM ALL RIGHTS RESERVED



